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QUESTION 1

Which tool is used to deploy VxRail? 

A. vRealize Operations Manager 

B. vCenter Server 

C. VxRail Manager 

D. Mobile Build Server 

Correct Answer: C 

 

QUESTION 2

Which VxRail model series supports only hybrid disks? 

A. S Series 

B. P Series 

C. E Series 

D. G Series 

Correct Answer: D 

 

QUESTION 3

An environment has two VxRail clusters with the following hardware configuration: 

Cluster-A is using FTT = 2 and FTM = Erasure Coding Cluster-B is using FTT = 2 and FTM = Mirroring 

A 100 GB VM is planned to be vMotioned from Cluster-A to Cluster-B. 

How much more vSAN capacity is consumed in Cluster-B than in Cluster-A? 

A. 0 GB; consumption is unchanged 

B. 100 GB 

C. 150 GB 

D. 167 GB 

Correct Answer: D 
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QUESTION 4

A VxRail cluster needs to be moved to a new rack in the datacenter. During this process, the entire cluster will be
temporarily shut down. 

Which Maintenance Mode option is the best fit? 

A. Ensure accessibility 

B. Protected maintenance mode 

C. Full data migration 

D. No data migration 

Correct Answer: B 

 

QUESTION 5

A user has three G Series nodes in a VxRail cluster. They are planning to add five additional G Series nodes. 

How much additional rack is required to accommodate the new nodes? 

A. 1U 

B. 2U 

C. 5U 

D. 10U 

Correct Answer: B 
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